


QUESTION 1

s 1.1 Solve for x:
1.1.1 x'—4x+3=0
1.1.2 5x' =5x+1=0 (correct to TWO decimal places)

1.13 ¥ =3x-10>0

114 3Wx=x-4

Solve simultaneously for x and y:

3x-y=2 and 2y+9%x°=-1




QUESTION/FRA4AG 1L

111

x—4dx+3=0
(x-3)x-1)=0

x=3 or x=1

v factors/cormect subt in
formmala

v x=3

vix=1

Sx—5x+1=0
e — b4k —dac
2a
=51,.f15—4(5}c1}
2(5)
_5x45

10
x=072 or x=0728

v substitution mto the commect

formula

x*—3x-10=0
(x—3)x+2)>0

ORMOF

v P /
-2'\\’\_/5

x<—2 or x>3

v xre—2 or x5

E)]

Ix=x-4
Ox=x"—Bx+186
2 =17x+16=0
(x—18Kx—1y=0
x=16 or x=1

NA

v sgquanng both sides
v x?—1Tx+16=0
v factors

( -
selection




2}.-—9_1'1 =-1.....(1)
Ix-y=2 ... (2
J.'=31'—':-! ....... E?ﬁ:}
x-2)+9x" =-1
fr—-4+0x =-1
Ox* +6x-3=0
I+ 2e-1=10
Bx-D(x+1)=0

of x=-1

v y=3x-1
v substifution

v standard form
v factors

v both x values

v'both y values

ANSWERS



QUESTION 8 /

8.1 Determine f '(x) from first principles if it is given f(x) = x* =5.

dy

82 Determine — if*
dx

y=3x" +6x" +x-4

2
w=y=2x"=-2x , x#l

1\
ANSWERS FOR 8.2 IN VIDEO ON POWER
RULE ON WEBSITE

flx+h)— f(x)

h
x4+ 2xh+h?-5-x*+5
h

f'(x)=

v xt+2xh+h* -5
+ simphfication

h{..t+h}
; h
=l (2x+h) f'liH[E{Ex+hjjp

v Ix

¥ factorisation




Determine % if y=4xs+\g
L

Given: y=axr’+4

Determine;

731

732

S
4

ANSWERS FOR 7.2 and 7.3

in video on Power rule on

website



